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a—F fih Fik | PERR (kg) %8 (M) = g ol | PE H (BAL)
30300 Az 10 1, 404 140 140 140 | BN 10kg
39630 Frmo~A ¥ 3 680 76 76 76 BH 93
31700 F ¥ XY 10 864 864 864 864 | BN 1
31900 X 17 8, 294 1,080 432 108 | &N 17kg
34330 | E/pd 52 4, 493 27 14 11BN 2604
34400 k= b 38 11, 124 486 119 119| BN 38kg
34100 #HA/I 13 1,161 22 22 5 B 654
34140  PUZEEH I 3 567 38 38 38 BN 154
34200 7L 45 3,878 97 76 76 | B 45kg
34500 bB—= 27 577 36 11 115N 27kg
34500 B —<w 58 2, 305 12 12 12| BW 19448
Y3033 | ZZHIAL 25 2, 160 86 86 86 | BN 25kg
Y3037 ALIZ %M 25 1, 620 65 65 65 | BN 25kg
36200 HB#nE 172 22,313 162 140 54 | BN 172kg
36600 7-f¥hX 60 11, 448 205 184 184 | BN 60kg
34930 LA v 86 8, 495 65 32 5| BH 2887
34800 B 5 34 18, 095 59 59 32 B 342% v k
36700 ITALZK 5 2, 160 216 216 216 | BN 103K
37520 FRU*% 3 1, 264 140 140 140 | BN 93
37600 A X H N 1 648 540 540 540 | BN kg
44500 T H % 21 3,175 162 162 130 | &N 21kg
49470 RNy g T A— 4 2,948 70 70 70 BH 4217
71011 AL —% 26, 384 38 5 5| B 1, 2507
71030 KT & 5, 638 151 151 65 BN 4TA
21032 FZE&F (GR) 756 76 76 76 | BN 104
71040 = ANE 778 32 32 32 B 24
71150 LT 1,523 76 76 11BN 293
21173 UEbY 173 22 22 22| B 87
71189 /A kv 119 3 1 1 &N 704
21190 7B 54 11 11 11 8W 5
71244 TER 648 32 32 11 5W 304
30100 7ZWVWZ A L 150 11, 988 108 65 65 HE 1504
30300 A& L 20 3, 888 1, 944 1,944 1,944 | EIF 24— R
30300 A& M 100 8, 640 864 864 864 | FlGy 1047 — A
31100 H3E L 150 7, 560 1,080 648 648 | & 10477 — A
33500 T &3 653 59 59 59 | t& i 1148
33810 HHEE 2, 592 76 76 54 | EIR S 4048
37440 b 896 896 896 896 | LI 5 1r—2
Y5005 4 7K3EA 1,534 1,534 1,534 1,534 | K% 1r—=
31700 ¥ ¥~ 70 6, 804 972 972 972 | K4y T —2
31700 F ¥y 20 3, 456 1,728 1,728 1, 728 | B 24— A
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i B il #H
a—R dh Fik | PR (kg) %8 (F) =il i el PE (BAL)
31700  F XY 30 2,376 864 864 648 | B 34—
31700 ¥y B 50 2,700 540 540 540 | = IFF 54— R
31730 | 7Y —rAR—L 30 2, 592 864 864 864 | K45 34— R
Y3055 L v Ry 5 972 194 194 194\ 7 AV A 5@
31800 EHNAE 4 3, 240 3, 240 3, 240 3,240 | ERE 14— 2
31800 1EHNAE 8 2,959 86 86 11| ERS 4048
31950 HRE L 9 3, 564 1, 404 1, 080 1,080 |FEIR & 37—
31900 X 5 2,700 270 270 270 |BEIR B 103 (500g)
31930 ZhX S 3 2,592 86 86 86 |18 304%
32800 25 5 810 16 16 16 | & I8 505
34300 729 40 7, 560 1,296 1, 080 540 | BEA 8y — &
34300 729 2L 5 648 648 648 648 | 1EH 17—
34460 I =L F & S 5 4,147 173 173 173 | 24,83y 7
34100 HAJI M 20 1,512 540 324 324 | 44— =
36200 HEnE 2L 50 12, 960 2, 592 2,592 2,592 | FH 54— R
37200 L x5 2L 12 5,184 1,728 1,728 1,728 | E 37—
33400 L #Z % 71 7,646 54 32 32| RE 21218
33420 Y —rY—T7LF R L 6 162 5 5 5 | f& 301@
33600 /St 1 594 119 119 119 |[EERE 54
38100 AL Wiz 8 5, 832 86 65 65 | = K 80/ 7
34910 &K 10 1, 404 1, 404 1, 404 1,404 EIRE 17—
31310 Z9°3% 4 864 43 43 43 | %@ 204%
31500 /A3 12 3, 456 65 65 43 | 18 [ 6048
31500 /a3 8 4,104 2, 052 2, 052 2,052 |EIRE 20—
32500 | xoiF 1 605 54 54 22 | K4y 133
37560 BRI 1 2, 538 378 281 281 | K4y 8%y
38400 ZDEH 5 864 17 17 17 F s 5048
38521 SR L®UE 6 4,536 86 86 65 | 7 fif] 6045
Y4008 N7 RBD A 6 5, 400 270 270 270 |7 2075
41481 FaRy 4 1, 663 119 119 119 | ERE 144%
Y4005 ALY 15 7,776 7,776 7,776 7,776\ 7 AUH 17 —2A
44000 &% 15 8, 424 173 173 162 KA 50,8y 7
48000 FU A 2L 12 1,728 864 864 864 | T2 24
49100 N FF 72 22, 140 4,104 3, 564 3,240 74 U E L 64 —2R
44700 F =V — 16 12, 226 248 216 216 | 1 548> 7
44700 F = U — M 3 1,944 648 648 648 | 1L 3 —A
49430 |~w o A— 21 15, 120 216 216 216 | A¥ v T0fA
&t 1,816 359, 299 |

2/2




